8b | Theicy surface on Saturn Moon lapetus originates from a large cryovolcanowhich is the result of a globalimpact

The analysis of NASA, that lapetus had originally a complete icy surface which was covered with dark material,

It is the opposite way ! lapetus had originally a rocky surface which was covered by ice from a very large cryovolcano, resulting from

is incorrect !

a global impact. This impact formed the @ 580 km Turgis Impact Basin. And the equatorial ridge may be the result of the water-loss of
the mantle region of lapetus caused by the cryvolcanism.
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The ice-cover on lapetus with high probability
came from a large cryo-volcano in the Center of
the Turgis Crater, which means that the Turgis
Crater is responsible for the ice cover on lapetus
Trend-lines in the
crater clearly indicate that the ice came from the
marked cryo-volcano area. And the equatorial
ridge therefore must be the result, of either the
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impact shockwave, the water-loss in the mantle
& tidal forces, or the combination of them.


https://en.wikipedia.org/wiki/Iapetus_(moon)
https://en.wikipedia.org/wiki/Iapetus_(moon)
https://en.wikipedia.org/wiki/Turgis_(crater)
https://en.wikipedia.org/wiki/Turgis_(crater)
https://en.wikipedia.org/wiki/Cryovolcano
https://en.wikipedia.org/wiki/Turgis_(crater
https://en.wikipedia.org/wiki/Turgis_(crater)
https://en.wikipedia.org/wiki/Turgis_(crater)
https://en.wikipedia.org/wiki/Iapetus_(moon)

